2016-2018 FORD FOCUS RS

INTERCOOLER PIPE KIT ” ‘ MIS H I MOTO

PARTS LIST & INSTALLATION GUIDE

PARTS INCLUDED

Hot-side Intercooler Pipe

Silicone Couplers

Wire-reinforced Silicone Hose ATTENTION
T-bolt clamps

High-Torque Worm Gear Clamps

Rubber Isolators

Locking Nuts

TOOLS NEEDED

7mm Socket

INSTALL PROCEDURE

10mm Swivel Socket 1. Release the headlights from the front of the
13mm Socket vehicle. Remove the screws holding them in place
15mm Socket and disconnect the electrical harness kept

18mm Socket underneath. To release the harness, depress the
%" Drive and Extensions tab at the center. (4x T30 torx screws)

8mm Socket

3/8" Drive Ratchet
3/8" Torque Wrench
Flathead Screwdriver

T30 Torx

T25 Torx

INSTALL TIME 2. Note the tabs at the bottom edge of each

INSTALL DIFFICU LTY 1 4 headlight as'weII as the vehicle’s frame for when
you must reinstall them later.

DISCLAIMER

3. Remove the pop-clips that secure the undertray
to the stabilizer bar. (2x pop-clips)

MISHIMOTO | 18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 877.466.4744 | WWW.MISHIMOTO.COM




2016-2018 FORD FOCUS RS yy
INTERCOOLER PIPE KIT VA ‘ MISHIMOTO

INSTALLATION GUIDE

8. Disconnect the hood release cable from the hood
latch assembly by lifting the cable up. Then,
remove the cable stop from the lever.

9. Lift the tabs on the radiator support to release
the bumper.

4. Remove the undertray by unscrewing the rest of
the hardware securing it.
(8x T30 torx screws, 2x pop-clips)

10. Remove the front bumper from the vehicle.
11. Separate the break ducting from both sides of
the vehicle. (6x T25 torx screws)

5. Release the lower front edge of the front bumper.
There is a total of sever screws holding this area
together. (7x T30 torx screws)

6. Disconnect the fender liners, and then separate
the bumper from the fenders on both the driver
side and the passenger side.

(4x pop-clips, 4x T30 torx screws)

12. Loosen the clamp securing the hot-side pipe to
the intercooler end tank. Then, separate
the connection. (1x worm gear clamp)

7. Remove the top edge of the front bumper.
(5x T30 torx screws, 2x pop-clips)

13. Loosen the clamp securing the cold-side hose to
the intercooler end tank. Then, separate

MISHIMOTO | 18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 877.466.4744 | WWW.MISHIMOTO.COM




MISHIMOTO |

2016-2018 FORD FOCUS RS

INTERCOOLER PIPE KIT
INSTALLATION GUIDE

A7 |MISHIMOTO

the connection. (1x worm gear clamp)

14. Remove the engine cover.

15. Loosen the clamps securing the cold-side hose to
the throttle body, and then remove it from
the vehicle. (2x worm gear clamps)

-

16. Remove the bolts that secure the hot-side pipe to
the brackets under the vehicle. (2x 10mm bolts)

17. Loosen the clamp holding the hot-side pipe to the
turbo, but leave the pipe there for now.
(1x worm gear clamp)

18. Undo the bolts holding up the subframe support.
Gently lower it and let it suspend to give you
better access to the hot-side pipe.

(2x 18mm bolts, 2x 15mm bolts)

19. Lower the hot-side pipe from its resting position.
Be careful not to collide with the nearby
subframe support.

20. Install the Mishimoto cold-side pipe. First, slide
the pipe onto the end tank of your intercooler,
and then lift the other end up toward the throttle
body. Secure the connection to the throttle body
with the provided clamp.

(1x t-bolt clamp, 1x worm gear clamp)

21. Slide a clamp over the small silicone coupler and

install it to the turbo. (1x t-bolt clamp)

22. Remove the hot-side mounting posts and replace
them with the provided rubber grommets from
your kit. The longer rubber isolator goes at the
rear of the engine and the shorter one at the
front. (2x 13mm bolts)

23. Slide a clamp over the hot-side pipe and insert it
into the smaller coupler you just installed.

(1x t-bolt clamp)

18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 877.466.4744 | WWW.MISHIMOTO.COM




2016-2018 FORD FOCUS RS e
INTERCOOLER PIPE KIT ” ‘ MISH'MOTO

INSTALLATION GUIDE

stabilizer bar. There are tabs at the front of the
undertray that slide into position first before the
back is raised and fastened down. Use the original
hardware to secure the undertray.
(4x pop-clips, 8x T30 torx screws)
" 33. Reconnect the lighting harness.
34. Reinstall the headlights, reconnecting the

o electrical harness under each light and using the
original hardware to fasten them to the frame.
(4x T30 torx screws)

24. Slide clamps over the larger coupler and install
one end to the hot-side pipe and the other to the
Mishimoto intercooler.

(1x worm gear clamp, 1x t-bolt clamp)

25. Reinstall the subframe support. Use a torque
wrench to secure the bar. Torque to 81 ft-Ibs.
(2x 18mm bolts, 2x 15mm bolts)

26. Reinstall the brake ducting on both sides using
the original hardware. (6x T25 torx screws)

27. Reinstall the front bumper. Engage the tabs on
the top edge of the frame and the lower sides
with the fender liners.

28. Reinstall the top edge of the front bumper.

(5x T30 Torx screws, 2x pop-clips)

29. Secure the fender liners with the original
hardware. (4x pop-clips, 4x T30 torx screws)

30. Reconnect the hood release cable.

31. Secure the lower edges of the front bumper with
the original hardware. (7x T30 torx screws)

32. Reinstall the undertray and attach it to the

MISHIMOTO | 18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 877.466.4744 | WWW.MISHIMOTO.COM




